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Time: 30 Minutes | Paper Math 8 (T-1) |  Total Marks: 25 |

| 2nd Month, 4th Week, 5th Day | Revision Test (2nd week) |

Q.1. Answer the following Questions. - )...«lﬁcfvc«!b"f" 31O)
Q.1. Ten men can assemble 400 cycles in 8 days. How many cycles will 5 men
assemble if they work for 16 days? 5)
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Q.2. If the price of a carpet 8 metres long and 3 metres wide is Rs. 6288, what

will be the price of 12 metres long and 6 metres wide carpet? Q)]
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Q.3. 70 Men can complete a wall of 150 metres long in 12 days. How many
men will complete the wall of length 600 metres in 30 days? Q)
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Q.4. 15 machines prepare 360 sweaters in 6 days. 3 macines get out of order.

How many sweaters can be prepared in 10 das by the remaining
macines? 6))
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Q.5. 1440 men had sufficient food for 32 days in a camp. How many men may

leave the camp so that the same food is sufficient for 40 days when the
ration is increased by 1% time? Q)]
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